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QUESTION 1

You need to develop an integration with an analytics platform that tracks shopper activity across all Commerce Cloud
pages and provides its own JavaScript library. Which statement describes how you can implement this use case in
Commerce Cloud? 

A. Create a custom non-global widget that includes the analytics JavaScript library and upload to Commerce Cloud as a
Storefront extension which will automatically apply to all layouts. 

B. Create a custom global widget with a display template that includes an inline script reference to the analytics
JavaScript library and upload to Commerce Cloud as a Storefront extension. 

C. On the "Application-Level JavaScript" tab on the Settings Page, add the URL for the analytics JavaScript library so
that it will automatically apply to all layouts. 

D. Create a custom global widget that includes the analytics JavaScript library and upload to Commerce Cloud as a
Storefront extension. 

Correct Answer: B 

 

QUESTION 2

Given the configuration: 

US Catalog and Mexican Catalog share some of the products. 

Which two methods enable a merchandiser to enter Spanish translations in the products? (Choose two.) 

A. Import the translations by setting LOCALE=es in the CSV import file 

B. Select the site on the Catalog page and edit the products that need Spanish translations 

C. Select Spanish from the Content Language drop-down and create new products with Spanish entries in the relevant
fields 

D. Select Spanish from the Content Language drop-down and edit the products that need Spanish translations 

Correct Answer: AD 

 

QUESTION 3

For account-based commerce, the checkout layout can contain B2B-specific widgets that support accounts as well as
general B2C widgets. 

At a minimum, which two widget instances should be included on a B2B Checkout layout? (Choose two.) 
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A. Payment Methods widget instance 

B. Promotions widget instance 

C. Order Details widget instance 

D. Purchase List widget instance 

E. Account-Address Selector widget instance 

Correct Answer: CE 

 

QUESTION 4

In the Commerce Cloud implementation of the Model-View-ViewModel architecture pattern, what does the View
represent? 

A. Widget localization string resources 

B. Widget HTML template 

C. Widget JavaScript 

D. Store data, encapsulated in JSON 

Correct Answer: B 

Reference:
https://docs.oracle.com/cd/E55783_02/CRS.11-2/CSADevGuide/html/s0103modelviewviewmodelmvvm01.html 

 

QUESTION 5

Given the example custom widget JavaScript: 

In this example, what does $ represent? 
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A. Local function referring to the JQuery library 

B. Placeholder for anonymous Require.js content 

C. Null value until it is initialized 

D. Local function referring to the ccLogger library 

Correct Answer: C 
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